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One number is 5 bigger than another number. When one third of the smaller number is
added to half the bigger number, the answer is 10. Find the smaller number.

When 5 is added to a number and the result is divided by 4, the answer is 3.
Find the number.

When 3 is taken from four times a certain number and the result is divided by 7, the
answer is 3. Find the number.

| think of a number x. | add 8 to the number and then divide the total by 3.
The result is the same as half the number | thought of. Find the value of x.

One number is 3 greater than another number. When one sixth of the bigger number is
taken from one third of the smaller one, the result is 2. Find the two numbers.

x and x + 1 are two consecutive natural numbers. When one fifth of the smaller
number is added to one quarter of the larger one, the result is 7. Find the value of x.

A father is 30 years older than his son. When one fifth of the father’s age is added to one
third of the son’s age, the result is 14 years. Find the son'’s age.
The length of arectangle is (2x + 3) cm. 2x+3

The width of the rectangleiis 1(x + 3) cm.

1x+3
If the perimeter of the rectangle is 49 cm, find the value of x. d





